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Substitute y = x + 3 into the equation 2x? — y? = 5x + 3 in order to solve the
equations simultaneously.

Clearly state which values of x correspond to which values of y from your solutions
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Solve the simultaneous equations
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Solve the simultaneous equations
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Solve the simultaneous equations

o]
®

y-x-1=0
(2x+1)2=3y2 +3x—10=0

(4

Reanvi O tmak yte (uJoJ«.t, (W's easer tosub oy
nfpwsmﬁe than o m«?&. guadrabic eguabon), 4

)nul

y-x-1=0

+xt| ( 1 - el

Sub T:(H into @,
(oqTed) - (R + 3 -l0 <0

Uxre2xr2x | - 3(+xexel) +3x 10 =0

G + b + | C3gt-bx-3 + 310 =0

o+ x -2 =0

Solve godrakic:

Vot buo nunbis mubbpy b give -1L and add s give | 7
-3l
at+x-2=0
(-3 (x+4)=0
x=3, -4

H»dummnespmm’:gvm by subbing e twoveluss of o ks }f’“L

Whanx-3,  Y=3Hl=E
Waun x4, U”iﬂ"i
x-3, Yt
Tre whickiond o€
ad
=4,y





image10.png
Solve the simultaneous equations
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Solve the simultaneous equations
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(a) Show that the equation 4x + 2y — 6 = 0 can be written as y = 3 — 2x.
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Solve the simultaneous equations
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Solve the simultaneous equations
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